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\ebl . _
M- 8“2 ‘l )’ ((j‘\) ) Differentiate between method study and work
mcasurement. Explain the procedure of method study.
B.Tech. VIII Semester fafly srema= 3t a1t g & dta arae garso AR sreaas
Examination, May 2024 H ufdhgr aH=TEA |
Grading System (GS) |
Production Planning and Control 3. a) L)cscn;tht.:cilhc prim,:iPIt:s of motion economy. How they
Fime s Three Homre are related to work place layout?
Viaximuem Marks @ 70 afey srefegawar & Rigiat @ aofy a1 2 FHRIFRIS A3
@ Y Hafta g7

Nore: i) Attempt any fivequestions.
=&t gfa W B g1 Hifdm

b) Analyse critically any two tvpes of Predetermined
Motion Time standard system as regards zlpi)Iicahihu annd

i1} All questions carry cqual marks.
T 79 B WA oi 31 limitations for the ¢stimation of standard time in man-
) ) ) machine system.
iii) In case of any doubt or dispute the English version ysiem
qEa-"9f= vonett ¥ 1w 9a ¥ AT 21 gl

question should be treated as final.

Rl o 6 T o farg Y fRufer F st 7 atk fmrail & ey QA TER B o PreiRe 1y s

qT57eh TUITAT a1 ATara-1c1d ey gy

¥ uied o Iifem JFy SR
1. a) [)jsungmsh between joh-production und_balchpmductmn. 4. a) List the information required for effective production
SiTa - gaerT 3R 39 disged & € AT TN planning
h) Does India need PPC for her developing economy? ) ey Ao )
¢ Discuss. el Segre Aot & 1610 MRS STHERT wrefte i asdy
gitterentivpes of seheduling situations and

w11 TR @l 39 Aeradie refEewRn & AT PPC & by  What arc the
3qeaEd] B AHATE) ethodologics? Fxplintanyone of them in detail
What is sales forecasting? What are its ficld of faftva gais £ Al :I?c'i?lr SR A v #
. oy .'. k) € ‘*
g fpef) v P ~

5 .

ta

a)
application” I-xplain.
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5. a) Acompany 1‘32 us spl .l.\ location of A, 3 and C which whic} Sannyy)), :4.00011!1115“‘”‘“' S a
supply to wareho Ocatedat DK, F, G and H. Monthly N costg Rs. 1 5¢ = ing cach order !
ities arg 800 5¢y() . . iy R« - T S9 per . pit placing
plant capaciti - U0 and 900 ynits respectively. 5. 225 and the 5.4% per ycur
. 3 Cotpm . o yeuar ol
Monthly warehOUSE requircments are 400, 400, 500, 400 aVerage inye HTying cost is 347 _ .
. tivel _ i Aventory ; ic lot size and thu
and 800 units respgctively [ 'ni transportation (in Rs.) inv Y- Find the cconomic
arc given below: ftory cost (including the cost of material). Should
7 — "0 ANy - § . )
To ~OMmpany accept the offer g ade by supplier of a discour |
D E I G H of'5% on the coe . - -
From © COsl price on g single order of 24.000 unit-
T « . 5 - N .
A 5 _ 8 6 6 3 llpp(}bL lhl,‘ CE]I“P(’[I‘I_\' works lbr 300 days a year. Ifia
B 4 - . 6 5 Procurement time is 12 days and safety stock is 400 units
C 8 4 6 6 4 find the reorder point. the minimum. maximum an.
Determine an optimum distribution for the company in average inventory.
inimi al transportation cost. )
order to minimize the tota p 5 ‘ Ve ST [T 24,000 Te 2 917 1 398 FRA =
Uh YA B A, B 3k C A R AF 93 €N D EF.G - ;
. .. Fmamaj_zaﬁ.n%@aa,mméﬁc.
3R H Rra Mem) ot amgff v & T1fves w3 enran
22.5 %, @ S o @ R A SR B e sitag g

I 800, 500 3R 900 gl &1 ARG MeH FawI
HHA: 400, 400, 500, 400 3R 800 FHTEAT T e aRagA

(w9 H) #4 Ry 2

Pl 5.4% ufy ad &1 anfefe afcanmﬁaﬂ??jas%ﬁm
(qrft Y drrd afed) T IR Ty FTf &) 24,001

To | F |G | H gepréal 3 Gt SIS T T TR 59 B e 5 g
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B a7 ]7[6 s et a1t F 30015 a4 R 1 R
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a) Define MRP II. What the surround failure of e RE e e - 3
<" Manufacturing Resources Planning (MRP II) system in 1) Qo frg-s = i lak
manufacturing management? T

11} ;n;r'}t T

i) MPps Tyoy

v ) F<a=H —jrﬁfﬁ‘?ﬂ'{

MRP 11 @ aReia ax| fafyato g F fafmfor sy
D (MRP 1) Jored! 6 & fvatar e 8 2

by What are the advantages and disadvantages of ERP system?
I-xplain the implementation o 1:RP system.

I'RP god 3 B ol g aar €7 ERP wonelt & A
PIATI ) FHFTE|

a) How is line balancing done using heuristic method? What
are the types and rules of heuristic methods?

FRfEcE gefd 1 Sy o Ya Sge HY oy s
27 el At & wer SR P wm €2
b) What are the role ol factory executives and workers in
o raising productivity? Explain it.
IaTedndr de™ 3 haedl aftpiRay iR siffent 6 o
et 2 7 g9 |AHEa|

Write a short note on any two :
i} Market Analysis
ii) Synthesis from standard data
i) MPS
: Send yvour old paper & get 10/-
ITA R Gud oS AR 10 Fudr i,

Paytm or Google Pay &

1) Inventory Classification

\1"“”.][[)]([|\j PTO


https://www.rgpvonline.com/

